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Sectlon B: Open-Ended Questhns
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5 x4 marks
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SECTION A: Multiple-Choice. Questhns {20 X 2 marks)

For each of the question from1:t0.20,.four options are dgiven. One
of them is the correct answer- ‘Ma y_our choice (1, 2, 3 or 4). Shade
the correct oval (1, 2, 3 or 4) on' the Optical Answer Sheet (OAS).

1. Which one of the followlr]g:é‘.;haﬁ;_. € _._:_r-.eatest value?
(1) 54 tens |
{2) 879 ones, .
3) 6 thousandsl
(4): 23 hundreds;i

2. Subtract 566 from 1 8007 Wthh‘dlglt In the answer is in the
hundreds place?

(1) 1
@ 2 :
@) 3 .
) 4 ¢ )
3. 460703nbe written as
() 4000460 +7
(2) 4000+60+70 .
(3)- .4.000 +600 +7 R | ‘
(4)- 4:060+600 + 70 ()
- 4. Which number.is not divisible by 3?
(1) 198
(@ 263
AS) BB e AP e e BT
(4) 471 - ( )
5. ExpressZ.';th in malhhtres: o
(1) 29 me o
. (2  209me
(3) 2009 me o S
(4) 2090 me | ( )




Jacob spent % of hlS salary Iast week and 8 of hlS salary this

week. What fraction of his salary did he spend altogethier?

2
(1) =
1
&) 3
1
(3) ‘2"
@ g ()

i
]
i

25 m How much further does Kevm Jog than Llymg‘?

(1) 65m

(2) 135m

3y 650m .

4) 965m L g -0

i
§

Xavier drinks 1 £5 me of milk every day. Whatis: the total amount
of mitk he drinks in 5 days?

(1) 5t25me

(2) 5:250me

3) 50e250mt : .

4) 52:50me ( )



~ Yiting went to the shopping centre at 10. 45 a.m. She came home

1 1 20 tin later. Wthh clock face shows the tlme Yltmg reached
‘home? - »

(M

@

(3)/ .

“4)




10.  The menu shows different food ifems sold in'a restaurant.

Menu '
Cream Pujf —=—-%$1.50

Chicken wing ——$4.50

Fishballs — $2.00
|| FreiciFries i§2%0
Pizza —-$3.00

Jeremy bought 2 different items from the restaurant. j—le g‘ei‘Ve the
cashier 3 two-doliar notes without receiving any change. Which of

the two items did Jeremy buy?

(1) - Fishballs and-Pizzas -. = -

(2) Cream Puff and French Fries

(3) Cream Puff and Chicken wing

(4) French Fries and Chicken wing - )

11.  Study the diagram carefully.

What is the mags of A2

(1) 2kg40g

2) 2kg80g

(3) 2kg400g -
4) 2kg800g ' S ( )



12.

13.

14.

15.

How many fours are there'in 84 x 7?20 |

(1) 80

() 147
(3) 330
(4) 588x . o ( )

Benny saved $660 Iast year. His brother saved $12 more than him_
each month. How much did they save altogether‘?
1
(1) $1176 |
2) $1308.

@) $1332 |

4) -.$1464 | | o ( 9

Jamce reached a party at 8. 30 p m.. She ieft at1.1 5 a.m. Hew long
was she at the party? S .

vy

(1) 4h15min

(2) 4h45min
(3) 5h15min
(4) 5h45min : _- Yo o ( )

Study the diagram carefully.

What is the mass of U ?

(1) 2kg35g :
(2) 2kg350g j
(3) 3kg34g '

(4) 3kg340g | ( ')




16.

Study the diagram carefully.

AT I

- iHowe many afgle(s)insidethe: dtagram above tslare less than a

17.

@)

right angle? B B TS S

(1)
(2)
(3)

AR

Which figure below.has more

(1)

pair of parallel fines?

)

(3)

4



18. Raju has 27 coins. S‘téven has‘twi_é;e as ;man-y‘l CAQiI‘]S- 'as Rajg:
Teddy has thrice as many coins as Steven. How many coins do
 the three boys have altogether? '

(1) 27x5 |
(2) 27x6 |
(3) 27x8 | : A
4) 27x9 | (| )

195 ml%_-;igufesﬁBGD;iis>made'-oﬁ'_8:Jidentical-; squares. "What fraction of the
figure is shaded? ' Ca gL :

A 10 cm

- LB
x L

2cm

MR N ¢ QR . £

. J - W S 8Cm
2cm

1)

2)

(3)

@i B ®lw Zle

4




20. A container is marked into 4 equal{evels:lt-has the same.capacity
-as16botlles or 32.glasses of water. Which:level should the water
reach if 8 bottles and 8.glasses of water are poured.into:it?-

» @ -0 O

(1)
2)
(3)
“)

SOoOw>



.;.SEGTEION B: Open:ended Questions {20 x 2:‘marks) ..
‘Showyour working:cleaily in the space:provided and write the
correct answers .ir«i‘the_a‘nswen':boxes-iprb.videdﬁ;- T

21 Form the greatest 4-digit odd number using all the digits. .

9 . 6., 4 ,0

Ans:

22, Subtract 45 tens from 54 hundreds.

Ans:

23.  Arrange the fractions in order, beginning with the smallst.

1 3 3
2 ' 5 3
Ans: | N I

sméﬂest gfeal’est' -

24.  Joyce had some biscuits in a tin. She would have 2 biscuits left if
she divided the biscuits equally among 125 children. How many
~ biscuits were there in a tin if each child gets 3 biscuits?

E
I
1
i
i
|
i

Ans: |




25 - Usg all the.digits 2,3 and 4:to form the greatest three—dlg!t number

. that.can. bedmmbie by4..
d\VldeC;

Ans:

26. ""Ar'ré'ngé the angles from the smallest to the greatest.

Angle Z

Angle W Angle X

smallest St - .greatest

27. |f B has a value that is 5 times of 18, what is the sum of A, Band C?

h 4
-
A4

. 18

o720

28. Complete the number pattern below.

Ans:

10



29.

30.

31.-

. transport all'thé passengers? *

32.

33.

“Saim was I6okingfor his puppy. He Walked up 2 levéls but he could

not find it. After walking down 8 levéls, e found it at the’15% floor.
At which floor did Sam start his search?

Ans:
e N P 1 T s ] .
There are 101 chocotates to be shared among 26 ¢hildren, How
many more chocolates are needed so that each child wil receive 4
chacolates?

Ans: L
. T

A maximum of 8 passengers can board a mihi—bUs,eaCh-t_img it

there are 116 passengers, how many mi[j‘i—tgq'§es,, are needed to

;

PR
i
:

i

| - Ans:

i

There are 68 more-guesté in Hall A than in Hall B. After 32 guests

are transferred from Hall A to Hall B, how many more -guests are in
Hall A than in Hall B? |

i ANSI L J

Mrs Samat wanted to buy 24 cans of tuna but she was short of $2.

She bought 21 cans of tuna‘and had $2'left. How much money did
she have at first? il

Ans: $

C A1




35, -

34.

36.

37.

38.

- onger plece?

3 glasses iof fruit juice can fill a jug.-What i is the capacaty of a glass
if the capacity of the jug IS 1262 me?

Ans: @ me

The time in Slngapore is 8 hours ahead' of the tlme in London.
Zhiwen, who lives in Singapore, has a faulty watch 'which is 15
minutes slower. What is the time'in London :f Zhiwen’s watch

V'ShOWS 6.25 p.m?

F

i
!
|

Ans ; : ~a.m.

A ribbon, 7 m 8 cm long was cut into 2 pleces (f the/fonger piece
was twice as Tog.as the shorter plece what was thetength of the

- !
N
!

i

Ans: | ‘cm

At a camp, some girls and boys were grouped lnto tearks. In each
team, there were 8 boys and 6 glrls If there were 136 boys find
the number of glris

|

Ans: 1

: .i

|
i
i
l

Thomas bought 2 tms of milk powder Eagh tin of milk powder
costs $9, 15. How much change would Thomas get if he gave the
cashier 1 ten—dollar note, 1 five-dallar note and 2 two-dollar notes?

l
i
|
I
i

Ans: $i

12



e S

39: . 4 identical squares were cut.off from: the:corners of a piece of
paper as shown below. Find the perimeter:of the remaining piece
of paper which is shaded. '

40. The graph below shows the ndmber of books each \éﬁild r‘eéd. How
many boogks did Churu read if Billy read 12 more books than

&

| AL
Amanda?

Number of books read

Ans:

13




SECGTION C: Story Sumsi(5 x.4 marks)
Solve the following' story.sums. All worklngs must be shown clearly.
Draw models lf necessary

41. Cand|ce and Rosanne baked an equal number of cookles cach.
After bakmg, Cs 'dlce gave 60 of her cookies to"her’ helgh,bours
while Rosanne dave, 18 cookles to her friends. Now, _Rosanne had
thrice as many ‘cookies as Candice. How many cookies did
Rosanne bake at first?

Ans: |

14



45, Dennis boughta storybook. He réad goftne story 00k on the

first day and —:I of the remalnlng storybook on the second day lf

Ans: a)

:b)

115




N

- 43

- Steven has a-total value of $486 He has tw:ce as many $2 notes
as$5notesz .. . Lo

a)Howmany: $5 'notes does Steven have’?

. b)" What is:the 4dtatvalue of the $2 notes. that Steven has’?




-Miss Tay arranged 25 candiés in‘a straight row:withi equal distance
between them. The distance between the 12" and:the 213 candle
was 72 cm. After more candles ‘were:added:to the row; the. :
distance between the 1%t and the last-candle became 280 cim. How
many candles had been added?

Ans:

17




45. The picture below is made up of 5 identical rectangular tiles.
a) What is the area of 1 tile?
b) What is the perimeter of 1 tile?

{15 cm

A f

h 4

25 cm

Ans: a)

:b)

END OF PAPER
' 18






Answer

1/ ~.
EXAM PAPER 2010

'SCHOOL : CATHOLIC HIGH PRIMARY
SUBJECT : PRIMARY 3 MATHEMATICS

TERM : SA2

QI | Q2 |1 Q3 | Q4105|061 0Q7 | Q8 Q9 [Q10|Q11|Q12!Q13|Q14}Q15]|Q16]|Q17

3 2 3 2 1 3 4 | 4 1 3 1.3 3 2 4 2 2 2 4

Q18| Q19 | Q20
4 2 3
21)6409 22)4950 23)3/7,v2,3/5 24)377 25)432
26)Angle Y, Angle W, Angle Z, Angle X 273103 28)25 29)21
30)3 31)15 32)4 33)$30 34)354m 35)10.40a.m.
36)472cm 37)102 38)$0.70 39)56cm 40)28

41)2u=>60— 18 =42
1u=>42 -2 =21
3u>21x3 =63
No.of cookies Rosanne baked->63 + 18 = 81 cookies

42)a)iu—>4 pages
3u>4 x 3 = 12 pages
b)10u—->4 x 10 = 40 pages

43)a)ou—>486
1u->54 notes 45)a)area of picture >15 x 25 = 375cm:2
b)2u->108 area of 1 tile>375 = 5 = 75cm2
108 x 2 = $216 b)15 =+ 3 = 5cm
Length of 1 tile>75 =5 = 15cm
44)21 ~12=9 Periof L tile 15 + 5 + 15 + 5 = 40cm
9 pages>72cm

1gap>72-+9 = 8cm

280 = 8 = 35 gaps

No. of candles>35 + 1 = 36

No.of candles added->36 — 25 = 11candles



Answer Key





